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1.4 Continuity
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Defining Continuity:
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Formal Definition of Continuity:

For f(x) to be continuous at x = c, the following three conditions must be met:
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Continuous function...or continuous on its domain?
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1.4 Continuity ‘Notes
Finding the Domain
Two scenarios to watch for when looking for a restriction on the domain.
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Intermediate Value Theorem (for continuous functions) - IVT
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6. Use the IVT to answer the following questions if f(x) = x3 — 2x — 5.
a. Find f(1).= (\¥-2()-5=1-2-5=-6

b. Find f(2).= (Y-S = §-4-5 =~
c. Find £(3). :(335—?(33-5 =27-6-5 =16

d. Does the function have a zero? How do you know?
Does y =0
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The IVT Soys every y-value musi exst betwern -1 and 6.
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